2.R1 Review (Spring 2020)-s20 February 25, 2020

ENTERTAINMENT: pp.103-106 #1, 2%, 3 to 9%, 10, 11, 14
* in #2, the answer in the back has a small error. Do you know what it is?
Also, the answer for #9 in the back has some mistakes.
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Today

pp-116-117#2, 3, 5*an estimate is required only, 6a*find the quadratic equation first
then use the preceding interval method, 8, 9, 10, 11ab*use first principles, 13

p.118 (45 minutes max) #1,2,3,4a* use first principles

Recent Homework
Thurs. Feb. 20

p.86 #2bc, 4a

Use the "FIRST PRINCIPLES" FOR ALL RATE OF CHANGE CALCS
pp.86-89 #4c, 5, 10* do not approximate T +

Challenge: For the function y = l find the exact rate of change at x = 2.
b

Mon. Feb. 24

ENTERTAINMENT: pp.103-106 #1, 2%, 3 to 9%, 10, 11, 14
*in #2, the answer in the back has a small error. Do you know what it is?
Also, the answer for #9 in the back has some mistakes.
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PRACTICE: Slope of the Tangent - f(a + h)

1. Determine a simplified expression for the slope of the tangent for each of the following.

a)f(x)=2x"+x+1 b) f(x) = —x*+ 10 )f(x)=x*-—4
g = & O~ ()
L 7% A\>o
= (Q(ﬂfa)—"’:ﬁ(xfr%ﬂ( \[&X;ﬂx% /] l %\ND
h

- 2&%&%%% Iy ady RQXQZ(Z) on

~ d
A WV))%M,QM’EKQ )29 h70
h

il 2
2 h %Lﬁqx% s hso
= h(2h4 14 ux)
\)w\ \ &) l\\\)o

= hL 4 U oy hoo

= 2l0)+ | +uy
= Tt



2.R1 Review (Spring 2020)-s20 February 25, 2020

p.86 #10

10. To make 4 SNOW person, snow is bElﬂg fDllEd nto the shape GF;].
i 3

T I phere. The volume of a sphere is given by the function
where r is the radius in centimetres. Use two different meth{:-cls to
estimate the instantaneous rate of change in the volume of the
snowball with respect to the radius when » = 5 cm.

(roc = ﬁ(K%L 4& L\>O
A

= L(eh)f65) oo

L\
= sy - S’ b
L o
AT (o 6Ph R | 36D e
/Z@\\ .
=I5 s L?vwvmﬂ (o) s

(H/,QL _gms—‘iﬁ’/m)\ l L_} ©

= ti(\r/@y\ +/ODZT% £60
l/\ C,
:MODTFJ“;MTIML \E(WL\Q ; bé

_ )
= (001 34 1), 4—%% =0



2.R1 Review (Spring 2020)-s20 February 25, 2020

2.2 2 Challenge Question:
For the function y = — find the exact rate of change at x = 2.
X

| FoC= ﬁ&”ﬂwﬁ& 3 5 J»\>o

A
Low-dny L T

L
@)~ 3 he

(/HB ko

— l/&w f(QH\} / ¥ /9 :a(a
@+hya — @FRDYRY |k ke

- ke ) L | @43
g/@“\ a@%)lx o
:[;; REA L S _Ath
S (aHh) L@ h™>o B (ngM
[ Lﬁ :\a'ﬁ\
NS A % ho
= — | .
AUTINGEES
= — |
2 (3460

\\(
—

¥



2.R1 Review (Spring 2020)-s20

p.104 #6 .

6. a)

b)

Speed

John is riding a bicycle at a constant cruising speed along a flat road. He
slows down as he climbs a hill. At the top of the hill, he speeds up, back

to his constant cruising speed on a flat road. He then accelerates down

the hill. He comes to another hill and coasts to a stop as he starts

to climb.

a) Sketch a possible graph to show John’s speed versus time, and

another graph to show his distance travelled versus time.

b) Sketch a possible graph of John’s elevation (in relation to his

starting point) versus time.

Speed vs Time

Time

Height vs Time

Distance

Distance vs Time

February 25, 2020
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p.105 #9

9. A jockey is warming up a horse. Whenever the jockey has the horse

Bl .ccelerate or decelerate, she does so at a nonconstant rate_at first
slowly and then more quickly. The jockey begins by having the horse
trot around the track at a constant rate. She then increases the rate to a
canter and allows the horse to canter at a constant rate for several laps.

then to a walk. To finish, the jockey walks the horse around the track

once. Draw a speed versus time graph to represent this situation.
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p. 106 11. A cross-country runnet is training for a marathon. His training program
requires him to run at different speeds for different lengths of time. His
program also requires him to accelerate and decelerate at a constant rate.
Today he begins by jogging for 10 min at a rate of 5 miles per hour. He
then spends 1 min accelerating to a rate of 10 miles per hour. He stays
at this rate for 5 min. He then decelerates for 1 min to a rate of 7 miles
per hour. He stays at this rate for 30 min. Finally, to cool down, he —
decelerates for 2 min to a rate of 3 miles per hour. He stays at this rate
for a final 10 min and then stops.

a) Make a speed versus time graph to represent this situation.

b) What is the instantaneous rate of change in the runner’s speed at
10.5 min?

o) Calculate the runner’s average rate at which he changed speeds
from minute 11 to minute 49.

d) Explain why your answer for part ) does not accurately represent

the runner's training schedule from minute 11 to minute 49.
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p.106 #14

14. A graph displays changes in rate ofspeed versus time. [ he graph has
straight lines from point to point. If the graph had been drawn to
dis p]ay changes in distance versus time, how would it be different?

\ A

\ B

Speed versus Time Distance versus Time
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